LEFT

(-
— \

. Limit & Power Ports 25 j

RIGHT

1 [ TTITICT]
] ]

TOP

LID

p \
M4 Screw Hole «5‘})

5.3

- Servo & Motor Ports
FRONT
{ ] = =
el 55 2.25
.37I = —
\ USB Port
BACK

[ I
CONTAINER

LID

| 5.3

6.3

BOTTOM

2.73

472 ————]

(o)

)A

(‘i M2.5 Screw Hole

@ .

i f=— 25

'\,

]

Bill of Materials

PROJECT

" Gasket Cord

OPENS Lab HyperRail

4 - M2.5 x 20mm Flathead Screw

TITLE

4 - M2.5 Nut

4 - M4 x 20mm Screw

Electronics Enclosure

Full Dimensions: L 6.3in x W 3.3in x H 2.25in

APPROVED SIZE CODE DWG NO REV
CHECKED A 1
DRAWN Ryan Christensen 1/29/2021| SCALE 1:2 WEIGHT SHEET 1/1

N




	Sheets and Views
	Sheet1


